‘ % @ % drei Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
-3- Lo bz b
3 4 3 3
3 3
——12+2= —+6+2=
2 5
1 1
R2+4—=-= —+6+2=
3 2
1 1 2 1
—_— = —_= —_ — +1 =
2723 g 2010
1 1
I5+5—=-= 80+8— ==
2 5

www.snowmath.com


https://www.snowmath.com

drei Briiche, Reihenfolge der Operationen

N =

I5+5—-

N =

2
I

3

2 1

X - = -

3 6

1 5
—=2=2

2 2

o —

Datum: Ergebnis:

I 2 1 1

_— e X —_— =

4 3 3 36

3 18 3
-—+6+2=—=3-

5 5 5

1 7 1

—+6+2=—-=3=

2 2 2

1 47 5
~—80+10=(——) = (7=
- (2)=CT3)

80+ 8 —

Il
| &
YIS

| —

www.snowmath.com



https://www.snowmath.com

